Form 9-339

' “(Rev. 5-63) . U N [ T ED STATES SUBMIT IN DUPLICATE®*

(See other in-

DEPARTMENT OF THE INTERIOR structions on
GEOLOGICAL SURVEY

Form approved,
Budget Bureau No. 42-R355.5.

5. LEASE DESIGNATION

NM-03153

AND SERIAL NO.

WELL COMPLETION OR RECOMPLETION REPORT AND LOG*

6. IF INDIAN, ALLOTTEE

1a. TYPE OF WELL: 31 GAS X

WELL WELL DRY D Other

b. TYPE OF COMPLETION:

NEW WORK D DEEP- D PLUG j DIFF..
WELL OVER EN pack | RESVR. Other

OR TRIBE NAME

-1

. UNIT AGREEMENT NA

ME

2. NAME OF OPERATOR .
Energy Reserves Group, Inc.

0.H. Randel

S. FARM OR LEASE NAME

9. WELL NO.

3. ADDRESS OF OPERATOR

P.0. Box 3280 - Casper, Wyoming 82602

6

3. LOCATION OF WELL (Report location clearly and in accordance with any State requirements)*

At surface 1820' FNL, ]_710' FEL (Sw NE)

At top prod. interval reported below

At total depth

Basin Dakota

10. FIELD AND POOL, OR WILDCAT

OR AREA

11. SEC., T., R, M., OR BLOCK AND SURVEY

Sec., 15-T26N-R11W
14. PERMIT NO. DATE ISSUED 12. COUNTY OR 13. STATE
PARISH
| San Juan New Mexico

15. DATE SPUDDED 16. DATE T.D. REACHED | 17. DATE COMPL. (Ready to prod.) | 18 ELEVATIONS (DF, REB,

RT, GR, ETC.)* | 19. ELEV. CASINGHEAD

4-09-80 4-21-80 7-10-80 GRD 6,366' — KB 6,379' | ~—————————————=
20. TOTAL DEPTH, MD & TVD 21, PLUG, BACK T.D., MD & TVD 22, IF MULTIPLE COMPL., 23. INTERVALS ROTARY TOOLS CABLE TOOLS
' ' HOW MANY®* DRILLED BY
6,375' KB 6,336" KB NA > 0-TD e
24, PRODUCING INTERVAL(S), OF THIS COMPLETION—TOP, BOTTOM, NAME (MD AND TVD)* 25. WAS DIRECTIONAL
SURVEY MADE
Dakota 6,295' - 6,306' KB I NO
26. TYPE ELECTRIC AND OTHER LOGS RUN 27. WAS WELL CORED
Dual Induction - SFL, Comp. Neutron - Form. Density NO
28, CASING RECORD (Report all strings set in well)
CASING SIZE WEIGHT, LB./FT. DEPTH SET (MD) HOLE SIZE CEMENTING RECORD AMOUNT PULLED
8-5/8" 24 853' KB| 12-1/4" 500 sks "B'" + 2% CaCl, -0~
+ 1/4#/sk Flocele
4=1/2" 9.5# & 10.5#__ 6,37]1' KB 7-7/8" See Page 2 -0-
29. LINER RECORD 30. TUBING RECORD
SIZE | TOP (MD) ' BOTTOM (D) SACKS CEMENT® SCREEN (D) SIZE DEPTH SET (MD) PACKER SET (D)
! None v 2-3/8" 6.292" none
f P4 ERITLN
31. PERFORATION RECORD (Interval, 8ize and number gﬁ,‘f'ﬁ ; g 3\ ACID, SHOT, FRACTURE, CEMENT SQUEEZE, ETC.
6.295'" - 6 306" W/l JSPF Baas ¢ baf DERTH INTERVAL (MD) AMOUNT AND KIND OF MATERIAL USED
3 3
6,295' - 6,306' w/1 JSPF r 36,;;35'_-_6;.& B.D. w/1000 gal 7%% HC1 + 107%
JUL 14138 Methanol, 500 SCF N, /bbl. + 25 RCNI
H ) s/ qy
OiL CGN. COM. B.D. w/1500 gal 7%% HC1 + 10%
DIST.3 | / Methanol + 40 RCNB. Frac — See bacl
33.* \ PRO TION of Page
DATE FIRST PRODUCTION ! PRODUCTION METHOD (Flow i umping—size and type of pump) WEX;‘L ts?A;rL‘s (Producing or
shut-in
ST
DATE OF TEST I HOURS TESTED CHOKE SIZE PROD’N. FOR OIL~—BBL. GAS-—)MCF. WATER—BBL. l GAS-OIL RATIO
7-10-80 | 24 1/2" TRl 10 | 1269 |3(Frac Fluid) 126,900 SCF/STI
FLOW. TUBING PRESS. | CASING PRESSURE EQLCULATED OIL—BBL. GAS—MCF, WATER—BBL. OIL GRAVITY-API (CORR.)
-HOUR RATE .
450 | 525 | PEEST 10 | 1269 3(Frac Fluid) 50°
34. DISPOSITION OF GAS (Sold, used for fuel, vented, etc.) TEST WITNESSED BY
VENTED DURING TESTING T.C. DURHAM
35. LIST OF ATTACHMENTS
SAMPLE DESCRIPTION
36. 1 hereby certify that the foregoing and attached information is complete and correct as determined from all available records
SIGNED,_ ( rirg Prod. Engr. - RMD pate July 10, 1980

*(See lnslrucﬁons and Spaces for Additional Data on Reverse Side)
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70% Ss bn vfgezlt sé shly carb

30% Sh gy=bn carb

30% Ss aassm 1t gy fg sdo shly

70% Sh aa,sm 1t gy slty carb

40% Ss 1% tn sé vfg s rdd,sm 1t gy

80% Sh za

AA

tr8s aa

Sh 1% crm bent sdy ip

30% Ss whi fg s rdd clsy flld sbdt uncons
70% Shli gy slty,tn slty

30% Ss aazssm 1t gy vfg sép carb

70% Sh aasem dk gy-bn cart

80% Ss aa

30% Sh aa

1C% Coal

20% Ss aa

80% Sh dk bn carb sliyssm tn carb

70% Ss whi=in fg s rdd abdi uncens clay flld
30% Sh aa

70% Ss whi fg sdp clay fll1d s rdd,sm 1t gy vfg shly
30% Sh za,sm tn sdy sfi

10% Ss aa

90% Sh cysdk cy,dk gy-tn carb

20% Ss wht=in fg elay flld

80% Sh aa

805 3s whi fg s& clay Tlid,sm glauc,sm 1t tn Tg shly
10% Sh za

50% Ss= aa

30% Sh in carbsaysdk gy

Al

70% Ss aa

30% Sh in sliy carb

AA

70% Ss aassm tn shly fri

20% Sh az

LA

g0% Ss whi fg s s rdd clay flldx

207 3h gy,dk bn slty

90% Ss aasoce gy vfg séo clay fild shly
10% Sh gy carb

70% Ss za

30% Sh aa

90% Ss za

105% Sh az

80%h Ss a2

20% Sh gy slld,dk bn czkrb

90% Ss whi=l: gy fg clay flld,sm 1% gy w¥a sip sl shly
10% Zh za ’

£0% 3s az,occ in vfg s shly

205 Sh gy sliy

807 Ss aa

20% Sh bn carkt,sm aa

904 Ss 1t gy fg s shly,sm gy-tn vfg séo shly
10% Sh gy,bn carb

80% 3s aa,tr bn vfg shly carb

20% Sh aa
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30%
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70%
304
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60%
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AA
€0%
10%
30%
LA

Ss
Sh

Se
Sh

Ss
Sh

1t gy vfg sé sl shly,sm aa
aa

aas

ay sliy,bn slty cart

141 gy,tn vf=fg s& sl shly,sm 1t bn vfg shkly
aa

Sitst bn s% shiy cark

Ss

2z

Sha aa

100% Sh bn carb slty,gy slty

T AA

204
80%
AA

Ss
Sh

in vfg s¥o shly
gy sliy carb

ir Ss az

Sh gy sliy,gy bn sliy card

92%

105

20%
8C%
10%
0%
AA

8074
20%

1~
x-

Sh

S

w

Ss

Ss

% Sh

agy-tn vig slty=-shly

gy~tn €ity carb

gv-bn ¢k gy fg s shly,sm clay fildsir inis

gy-kEn slty

dk gy=tn fg s shly cale

gy=bn vig sé shly calc

cy=-on sihy

n-yell Ls dns

Ss

Sh

Ss
Sh

dk gy-btn vifg shly celc cark ip
cy»ds ay sliy carbd

gy sliy,dk, cy=bn cark
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bri,dk on vfg shly cert czle
dk gyscy=tn sliy cerb
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£0% Ss aassm wht=lt gy fg s sl glauc
40% Sh azssm gy

2

~

AL

70% Ss in=clr frosi cg s rdd uncons,sm 1t tn mg ¢ rdd cale
30% Sh dk gysdk ay-bn sliy czrb

AA

AA

20% Ss tn=1t gy vfg &l shly carb

80% Sh zassm b1k slty

20% 35 aassm dk on fg shly
80% Sh dk ‘gy~blk slty ip

tr Coal
KA
AA

tr Ss 1t gy vfg 8% shly

Sh gy=bn czrbt,cdk bn carb slty

tr Ss in vfg carb shly

> ™ (0
I I T Y.

o o+
T

aastr Coal

-

Ss in vfg shiy carb sirke
ay sliy.dk bn carb

30% Ccal

’

LA

AL

ir

tir Co

tr Ss az
t

St aa

LA
AL

tr Ss gy vfg shly

Sh br sliy,dk tn carb,gy sliy

tr Tozl

LA

e

:
100%

A A
AR

LA
100%

wht femz s rdd clay flld

Ss
£ 5h tn,lt bnsoce dk bn card

Sh zassm bn sity

Sh gy=-on slty, dk bn cark

Sh aa,sm 14 bn slty

Sh 1t bn carb sliy ip,bn carb,dk gy-blk lign



90 ~ 2900  AA

2900 = 10 AA
10 ~ 20 100% Sh aasoccc bn sity
20 - 30 LA

30 - 40 hA
40 =« 50  Abztr Ceal
50 = €0 AA
6C = 70 AL

70 « 20 100% Sh tn carb,dk bn carb,ir Cezl
80 - 20 4A
90 - 30CC AA
300C - 10 100% Sh 1t bn slty,bn carbsoce dk bn lign
10 - 20 AL
20 - 2 AA
30 = 40 100% Sh sza,sm 11 bn bent,ir Coal
40 = S0 1005 Sh bn sliy,oce bn carb
50 = 60 0C% Sh aasoce in sfi

60 = 70 tr Ss whi vfg s rdd clay T1ld

Sh az
70 - 80 100% Sh 11 bn carb,bn sity
80 - CC LA

90 - 3100 AA
3100 - 10 AA
10 = 20 1005 Sh bn sliysgy-tn cark slty ip

20 - 3 10% Ss tn vfg shly glauc ip
30% Sh aa
30 - & 100% Sh as occ dk bn carb

40 - £ 100% Sh gysor sliy,dk gy=bn carb
30 = 80  100% Sh az,akct dk oy-bn cart
&0 = 70 10¥% Ss in vfg sfo shly
90% Sh bn eliy carb,dk tn carb,ir Coal
70 - 20 tp Ss za
Sh az
€0 = 90  0C¥% Sh bn carb,sm dk bn cabrt sliy
93 - 2200 LE
2200« 1C 107 Cozl

el

05 Shoaa

10 = 20  10Ck Sh aa,abdt dk cy=bn carb
20 - 100% Sh gy sliy,in sltys.dk gy-tn carbsir Cozal
30 - 40 AA
40 - E0 LA
80 - £C  10C% Sh bn carb,cliy iz,8k bn carb
60 - 70 kA
70 - 20 AL
3C - 90 £
95 - 3300  10C% Sh tn carb,dk bn carb
3300 - 10 A
10 - 20 ¥
20 - 20 LA
30 - 40 LE:
43 = 50 Khyepdt dk on carbd
50 = 80  ip Ss whi vfg s rad clay fild

Sh br carb,dk bn carb

3C = 70 1003 Sh aasocc dk gy-tn cart

70 = 20 A4,sm bn sfi slty

2 =C3 400% Sh bn sliy,ck tn carb
90 - 3400  100% Sh z2a,tr tn slty carb
3400 - 10 100%Sh in sliy carb,bn sliy

S - 20 HAA

20 - 30 100%

w
5

2ascce dk gy sliy.ir Cogl _ 171 -



3350 - 4
40 - 20
SC - 60
6C ~ 70
70 - 20
30 - 90

9C - 33500

3500 - 1C
10 - 20
20 = 30
30 - 40
40 - 20
50 - &0
€0 - 7C
70 ~20
80 - 90

90 - 3300

3300 « 10
10 - 20
2. - 20
30 - 40
42 - 20
50 - &0
80 - 70
70 - £°
£5- 92

92 - 2700

3700 - 10
1C - 20
20 -~ 20
30 - 40
40 <« 20
50 - CC
£0 - 70
70 - 20
£0 - 20

90 - 2800

3300 - 10

10 - 20

20 - 20

LA

AA

ir Ss 1t gy vfg sép;sm clay fkkd
Sh aa

10058h aa

tr Ss 1t gy vig s% sl shly cley flld
Sh za

tr Ss bn vfg shly-cliy
Sh tn carb,dk gy=-bn carbt,sm dk gy
tr Ss 1% gy 3% vfg s rdd

o
35
[£2]

s 1t gy-gy vfg sép sl shly
Sh
100% Sh bn sliy carb,sm 1t bn carb
ip Ss wht fg clay fild

Sh aa

10% Ss whi fg < rdd clay {114

90% Sh za

tr Ss aa,Sh az

w
[+}]

10C% Sh bn carb sliy ip

40C% Sh azssr gy carb,in slity
103% Sh zz,abdi dk gy=bn cark
100% Sh in carbsbn carkscec dk gy-bn carkt

10% Ss wht f

9C% Sh zz

10% 3s frost mecg s rdd uncons

9C% Sh aa

NS

105! Ss kn vfo=slt shly

90% Sh bn sliy carbsoce dk bn sity carbsir
10C% Snh aa,ir Cozl

g 5 rdd clay flld

“00% Sh aassm dk gy=bn carc,ir Cezl
10% Ss in vfg=slt sdp shly

90% 3n =2a

10%zSs gy=in vfg shly
9l Sh bn sliy cart

ir Ss za

Sh ssscm dk bn carbd

107 Ss tn vfg sfp sl shly

Q0% Sh 2a,tr Coal

LA

1C% Ss gy vfg sép shiy,occ in vfg sdp shly
90% Shz aa

100% Sh aa,sm dk gy=bn carb

1005 Sh bn eark,dk bn siiy carb,ir Coal
20% Ss clr re=cg s ang uncons

S0% Sh aassm in sity sfi

tr 55 23,5h aa

1C% Ss wht fe,mg s sang clay T1ld,sm uncons
9G% Zh aa

80% Ss 1t in vfg sio shly

30% Sh aa

20% Ss 1t gy vfg sfo shly,sm za,sm fri

&0% Sh aa

tr Ss=aa

Sh za - 12 -



3330 = 40 ir Ss tn=lt bn vfg fri shly,sm aascarbt i
Sh gyson slty dk bn carkt
40 - 50 1005 Sh gy sity,dk bn carb
50 - 60 20% Ss 1% gy vfg sép shly
0% Sh bn carb slty ip
80 = 70 10C3 Sh aa
70 - 20 tr Ss wht fg s ang clay flld
11 bn carb,bn slty carb
50 = 90 tr 8s 1t gy vfg sdp clay flld

90 - 3900 1004 Sh za
3300 - 10 AA

40 -« 30 AR

30 = /0 LA

80 = 70 Sh tn &ft sdy,bn ezrb,occ dk gy-bn carbk
70 = 20 tr 5s whi fg séo clay f11d

Sh aa
80 -~ @0 100X Sh gy slty,tn sfi,gy-5n sliy carbd
9% ~ 4000 AL
4000 = 10 100% Sh gy=tn,gy sliy,dk bn carb

10 - 20 Ab,tr Coal

26 - 30 ¥

30 « 40 100% Sh za,abd: ck bn carbd
40 - 352 LA

50 - g2 100% 3Sh bn carbt sliy ip

ir 3s gy vfg shly
g0 - 70  102% Sh tn carb
70 = 20 100% Sh aasgy-bn carb,ir Ceal
£0 - 90 AA
90 = 4100 102% Sh gy=bn carbsem tn sfi carb,tr Co
£420 - 10 NS
10 - 20 804 Sh
20% Coa
20 - 40 70% Sh aa
30% Cozl
30 - 42 6C% Shm aa
40% Cozl
40 = 30 705 Sh azassmgy sity
205 Co-l

[

[ O]

50 - 30 1004 Sh aa
80 - 70 LA
70 = 23 ir 3s 1%t tn vfg =8p clean
Sh tn slty,gy sliy.,gy-bEn carb
20 - 90 LA
S0 - 4200 0% Coal
9%% 3n gy=bn cerb
4200 - 1T N 3
1 -0 NS
20 =20 NS
30-40 NS
40 - 50 NS
50 -0 NS
80 =70 NS
70 -8 NS
80 -20 NS
Q2 = 4300 N S =



2300 - 10 1008 Sh gy cabkb,in sity carb ips,bn cart
10 = 20 Adir Coal
3

20 = 30 ipmSs 1t gy vfa sdp sl shly
Sh az
30 - 4 Ah
40 - S 100% Sh bn carb slty ip,dk gy-tn cart

53 = 80 i4,ir Coal
80 = 70 1C% Coal
904 Sh bn carb,dk gy=bn cert
70 - 80 AA ¢
20 - 90 AR
90 «4400 100% Sh aa
4400 « 10 100% 3h aassm 1t gy sfi
10 = 2C  10C% Sh gy carksbn carb slty ip,ir Coe:
20 - 30 LA

30 - 40 AA
40 = 50  tr Ss tn vfg sip sl shly
Sh aa '

50 - 60 tr Ss 1t gy vfg-slt séo
Sh gy sliy carb,bn sliy
60 = 70 10% Cozl,AA

70 - 80 AA

80 = 20 Sh aa sm 1t tn sfi siiy,tr Ceal
90 ~ 4500 LA
4300 = 10 AR

10 = 20  100% Sh az,osce whi=lt in tent

20 = 3 AL

20 - 20 A

40 - S0 10C% Sh aa,tr Coz

5C - 60 LA

80 - 7C AA

70 - 3¢ 10% Cozl

y sliysin,sn sity cerb

W0
~ O
a
©0
)
«Q

20 - 20 A
90 - 4305 A
4303 - 10 1C0% Sh za em 1t in bent '
10 - 20 ¥4
20 - 20 AA
30 - 40 LA
40 - 23 AL
50 - 20 LA
6C = 70  ir S35 1%t gy vfg <o slax shly
Sh gy slty,on carb
70 - €9 ‘
20 - 22 L
9l = 24700 100 Sh aasem 1t gy,tn bent
4703 - 10 LA
10 - 20 I
20 = 30 100% 3h bn carbscy beni,em dk gy-bn carb
30 - 4C LE :
4C - 20 AA
50 = 2C 100¥ Sh gy 'sliy carb ip,om bn sliy
tr Ss 1t bn sip vfg shly
50 = 706 LA
70 - 20 KA

80 = 90  100% Sh zassm gy=dn carb
90 - 4300  AA
4800 - 10 A4
10 = 20 1C0%TZh bn cark,gy=bn sliy carb ip,sm 11 bn slty

- 14 -



42 O

W O

40
50
80
70

90 -
3002

93 -
£220

(o]

2100

A

t
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(@]

t
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0
(o]
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H
(Vo]
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[SeTek
pox4

"t
\
W N O
< O O

<

!
M W
o O

!
-
QO

WO W
«

2200

LA

LA

LA

AA

AA .

1005 Sh aa,irSs 1t gy vfg shly
AL

LA

100% Sh bn carb,gy=bn sity

A.

\
A

LA
2
L

-

LA
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1005 St gy=tn carb,gy sliy

Iy
1003 Sh za,oce 1t bn sliy sft
LA
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AN

Sh aascec dk gy-bn carbd

tr Ss 11 gy vfg=cit shly

Sh aa

100% 3h az,zbéi dk gy=bn cart

100 Sh dk gy sliy carb ipsgy slty dk gy=ba cart

ip Se gy vfg shly slty



TN

5300 « 10 N S
M -20 NS
20-30 NS
0 100X Sh oy=dk ¢y frm blky sm sliy w/cee cart incl
40 - 20 AA
50 « 20 100% Sh gy=-bn frm blky siiy w/carb incl
63 = 70 204 Ss wht vfg s rdd mod clay flld sl shly tite calc
70 = 30 tr Ss za»Sh aa
80 - Cu AL

80 <4020 10% Ss wht fg s rdd clay fiid fra=hard it occ carb incl cale

IR

0% Sh aa
5400 - 10 10% Ss aa
805 Sh gy=br. frm ktlkyssm sltiy w/cart incl
10 - 20  10% Ss
90% Sh ae
20 = 30 20% Ss whi—gy vyi=fc s rdd clzy fl1d hard ii cale
80% Sh aa
30 = 40 104 Ss aa
90% Sh a3
20 = 50 20% Ss whi fg s ang sl=mod clay flid sI peros cale
£0% Sh az Tr inoceramas pris
50 - 62 205 Ss wht fg s ang mod clay 119 frr poss sl poros calc
80% S
60 = 70 10% Ss aassm gy shly it

h az
9C# Sh gy=ck gy frm blky slty w/cert incl scal pyri
70 - 80 e
90%
0 AA

o
°

90 - 5820  100% Sh aaz
1

s wh. fg s ang clgp f1ld ti cele

W w

o)
w

ax

£50C - 10 AA

1C - 20 AL

20 = 30 0% 3s whi fz s ang clay fild it calc sdo
95% Sh aa

30 - 40 0% Ss whi fg s rdd mod clay flld poss sl pores hard sto
90% Sh a=2

40 = 30 20% 3s buff femg s rdd clay T1ld frm sl shlyy t% w/card incl
20% Sh za

30 - 80 20% Ss whi fg ¢ rdd cley Tild fra it cale
20 Zh zaz

€5 « 70 40 Se whiepuSf fo s rdoes ang clay Til1¢ it calc
S0 Sh aassm k1 gy clayey,sczi oyrt

70 = 80 100% Sh gy-brn Trm blky sliy w/carb incl

10 - 20 1C% s whi fio s ang clay flid it cale sip
0% Sh gy-dx gy frm Llky-plaly w/cark incl

0% Sh aas,tr Cozl
6 - 33 NS
S0 - &0 20% Ss whi fz s ang clay flld harcd tit calc
20% Sn as
60 - 70 10% Ss za
90% 3h aa
/=

80% Sh aa
80 -~ 90 100% Sh a
93 - 5700  100%™Sh gy-2k gy frm tlky sity w/carb incl sl calc

5700 « 10 A
40 - 20 L3 . 1eae -



5730 « 20 AA
30 - 40 AA
40 « 209 AA
50 = 80 100% Sh gy-dk gy frm blky sl slty w/oce carb incs

70 - €0 AL
€0 -« 90 AA
o0 ~ 38008 LA
5300 - 10 1007 Sh gyeck gy frr blk sm bl gy clay-
0«20 AL
20 - 30 AA .
3C - 40 AA
40 - 50 AA
SC =30  AA
80 - 70 AL

70 = 20 100% 3h ok gy frm biky slty sl calc w/cark incl
80 - 93 LA
90 - 500 N S
5930 = 10 400% Sh ok gy frm klky si slty w/cart incl sl carb
10 - 20 AA
0 =30 Al
30 - 40 100% Sh dk gy frm biky sl sliy sl cart sl calec w/cart incl
20 -« 50 KA

S0 - 20 AA
50 = 70 ir Ss bl gv Yo s ang clay flld glauc sl feld calc
Sk az
7C - CO A&
€0 - 20 AA
9C - 8000  AA
6030 - 10 RA
10 = 20 0% 3s wht fg s ang clay f1ic hard i w/oc: carb incl
90% 3n zz,tr inoceramas prisms
20 - 30 2% Ss ez
7C% Sh zaxm
30 - 40 1CH Ss aa
90% Sh ez
47 = 55 20W 3s gyewhi femg s ang mod=v clay T11d frm pess sl porcs
80% 5h aa
50 = 30 0% 3s whi vi=fg s rdd clay fild tt sl clauc w/oce cart incl
90l 3h az
50 - 70 100¥ Sh &k ¢y Trm blky=cliy cart mod czle
70 -2 NS
20 -90 NS
90 - 2160 N S
5100 = 7 kS
10 = 20 100% Sh dk gy frm blky sl clayey-sl sliy cale
20 - 20 AL
30 -4 10% 5s whit fg s rdd clay T11d frm=hard ti occ cart inel
40 - 1005 Sh zz
S0 - €0 Al
50 - 70 AA
70mem 20 AA
S0 » ©0 1005 Sh 2k gy fra klky linmy
50 ~ 6200 LA
€200 = 10 KA
10 - 20 AA

20 = 20 100% Sh aascisliy limy

30 - 40 10X Ss whi fg s ang clay flld hard it sl glauc w/occ carb incl
90% 3Sh aa,mad calc

40 - S0 LA



6250 = £0  30% Ss wht fg s rdd hard poss sl pcros clean=sl clayey calc si glauc
70% Sh dk gy-gy frm blky sl slty carb ircl sl cale
60 = 70 20% Ss whi f-mg s rdd psri frr fair pcros sl clay flid cale el glauc
804 Sh az
¥ 70 = 80 0% Ss za
90% Sh az

80 - G 50% Ss wh: fg s rdd herd mod clay flld poss sl porcs sl glaue w/oece carb Tlks
50% Sh aa
Q0 = €300 30% Ss aa
705 Sh zz2
630C ~ 10%& 2405 Ss whi fg s rdd sl clay T1ld fiir porcs sl poros
10 - 20 AA
20 - 20 30% Ss aa
70% Sh az
30 - 40 LA
6200 = T NS



